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<Sol>

» TELOBEAXZEES={12 3, 4 5 6} -n(S)=

v (1) LIBESBIIEMA={2 4, 6} -n(A)=3

FTEP (A)=3/6=1/2.
v (2) LBEZEAISIF9FEAB =(5, 6]
AP B)=2/6=1/3.

'nB)=2
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AXBIE | FBEHAEBRE /M ! &
« 5S={(1,1), (1, 2), (1, 3), (1, 4), (1, 5), (1, 6)
(2. 1042, 2), (2,:3), (2, 4), (2, 5)-(2, 6)
(3,1), (3, 2), (3, 3).(3,4),(3,5) (3 06)
4,1), 4, 2), 4, 3), 4,4),4,)5) 4,0)
(5,1), (5, 2), (5, 3), (5 4),(5,5), (5 0)

(6, 1), (6, 2), (6, 3), (6,4), (6, 5), (6, 6)}




» LB RIRARZEEIRVIE R
v A F—HERFHOELGE  E_FIZ - A
LA #Ea R 56 X 6=36/E12 oG5

x ()#HEHZEHIFEHR - SHEZA
AIN=((2,6) (3 5).(4 4), (5 3),(6 2)} n(A)=5
Bl - P(A)=5/36.
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« S={(1, 1), (1, 2), (1, 3), (1, 4), (1, 5), (1, 06)
(2, 1), (2, 2), (2 3), (2, 4), (2,5), (2, 6)
(3,1), (3, 2), (3, 3).(3.4), 3, 5)(3, 0)
(4,1), 4, 2), (4 3) (4,4),(4,)5), (4,0)
(5, 1), (5,2), (5, 3),(5,4), (55), (5 6)
(6, 1), (6,2); (6, 3), (6, 4), (6, 5), (6, 6)}

RBE . RABAB6 7 9. RS AIS/ZDIE ?



+ <Sol>
(2) SHETFEZRIFFZB - n(B)=30
(FECE— )
BTLAP(B)=30/36=5/6.
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+ <Sol>

FTEEEALZE - AARI2FETK - ZE47E -

BTNt £ 2 B C 12 =495

(1) 228241

H%E CoxC. #&

BTl - K%
CCr ol 24

C 495 33
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+ <Sol>

(2)EEIXELEN—A.

SEM2ME - HSSRUE BE2E HHSRUE ARE  EHSRLE
ngCffo+CfxC;fo+CffoxC§
C,’ #rzmEn
60+90+120 270 6
495 495 11
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+ <Sol>

x (3) 4185k 15 £ &
KRB =EEE - AOJpEE5I4FEZE
) O/55FE 1 wmy D =0.
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458E1_10N , thA B/ Y =1 |
A 3o L~ LU THO“T AR AT/ AN
+ <Sol>

« EEZERTEE=n(S)=C,’ =210.
v i . A | REEEN::

U VR T

59 10 1 2 3 4 5 6 Bk

« Abh@A)= C) xC3 =45
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{EENGRAE - SREE9E - E—aliERED
(5258)% - EHU55R - 5k \§UZM+ .

(1)Full house.(25& &2 - = IN35R[EIFEY)
(2)55RMEETER.
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+ <Sol>

JL

R T6EA - BEAR=1EE]

C,
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_ CIxBx8x3x3x3x3 _7x3

216 214



«» TUENHT(Laplace 1749~1827)
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« BXREE - EFLRAEL  BEIOEEF
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v BBHENISHA..

. eEsE . 5xys C, =15 &
. EBESLA 5A8E C, =1 &

. —EE—e4T . 5AEHCIxC, =902

. FRBE
p =

15+1+90 106 53
210 210 105
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« @EACS - BIP(A)=1-P(A)
« (5) P(AUB) = P(A)+ P(B)— P(An B)

%A g B_Eu

<. BIP(AUB) = P(A) + P(B)
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+ <Sol>
2

+ (1) P(A)=1-P(A) = §

:P(A):%

« (2) P(AUB) = P(A)+ P(B)— P(AN B)
R 1
= - - 4+P(B)-=
A3 4

- P(B) =§



+ <Sol>

+ 3) P(A—B) = P(A) - P(AN B)
) M <
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+ <Sol>

x (DFEE— : PIKIEFE=1-P(=5kEA%0)

=1-(0.9)° =0.271
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+ <Sol>

x (Q)P(ELE—EOAZLDE—E9)
=1- PCEE0%;E5E9)
=1-[P(%BE0)+P(EEI9)-P(LEOHEEI)]

I P LR g
i i) )l

=1-0.729-0.729+0.512 = 0.0054



14
£53

i

« EENANISIE  BIRERIEES) =C




